	Центрирование по е и s
D = 8
      m = 0,8         
 d =  5
Эвольвентное соединение

7H    7h


	Центрирование по Da, df
D = 6
    m = 0,5       d = 4
Эвольвентное соединение
H7        js6
	Центрирование по Df, da
D = 12
      m = 0,6         d = 7
Эвольвентное соединение

H7               g6

	Центрирование по е и s
D = 15
     m =  2
       d =9
Эвольвентное соединение
9H    9h


	Центрирование по Da, df
D = 18
    m = 1          d =  15 
Эвольвентное соединение
H8           g8
	Центрирование по Df, da
D = 40
      m = 1,25      d =32
Эвольвентное соединение

H8               n6

	Центрирование по е и s
D = 35
     m = 4
       d = 30
Эвольвентное соединение
9H    8f


	Центрирование по Da, df
D = 25
    m = 1,5        d =19
Эвольвентное соединение

H8           h6
	Центрирование по Df, da
D =50
      m = 5
         d = 43
Эвольвентное соединение

H8                g6

	Центрирование по е и s
D = 75
     m = 6
     d = 69
Эвольвентное соединение

11H     10d


	Центрирование по Da, df
D = 150   m = 4         d = 140
Эвольвентное соединение
H8           n6
	Центрирование по Df, da
D = 80
      m = 3           d =72
Эвольвентное соединение

H7                  g6

	Центрирование по е и s
D = 130     m =5          
d = 120
Эвольвентное соединение
9H       9g


	Центрирование по Da, df
D =55
     m = 1
    d =48
Эвольвентное соединение

H7             h6
	Центрирование по Df, da
D = 105     m = 10        
d = 97
Эвольвентное соединение

H7                h7

	Центрирование по е и s
D = 190     m = 8        
 d = 180
Эвольвентное соединение
9H       8k


	Центрирование по Da, df
D =90
     m = 2,5     d = 84
Эвольвентное соединение
H7             h7
	Центрирование по Df, da
D =100       m = 8     
 d =94
Эвольвентное соединение

H8                   h8

	Центрирование по е и s
D = 170     m = 6        
 d =160
Эвольвентное соединение 

7H       9r


	Центрирование по Da, df
D = 200   m = 8        
d =190
Эвольвентное соединение

H8                 f7
	Центрирование по Df, da
D =125        m =9     
 d =117
Эвольвентное соединение

H7               f6

	Центрирование по е и s
D = 10
       m = 1,5
d = 6
Эвольвентное соединение
7H          8p


	Центрирование по Da, df
D =6
    m = 6
   d =3
Эвольвентное соединение

H8              k7
	Центрирование по Df, da
D =135         m = 7    
d = 126
Эвольвентное соединение

H8              d7

	Центрирование по е и s
D = 20
   m =1
  d = 16
Эвольвентное соединение
7H             7n
	Центрирование по Da, df
D =42
     m = 9
  d = 37
Эвольвентное соединение

H7            p6
	Центрирование по Df, da
D =185        m = 6    
d = 174
Эвольвентное соединение

H8                k7

	Центрирование по е и s
D = 85
       m =7
    d = 80
Эвольвентное соединение
9H            7f


	Центрирование по Da, df
D =120    m =10     
 d =114
Эвольвентное соединение

H8            n7
	Центрирование по Df, da
D =65
      m = 4,5      d = 58
Эвольвентное соединение

H7                n6


